
FOUR/60
DUMPER C/W
HAMWORTHY

1700 AXLE
(CAPACITY 60 CWT)

ISSUED JULY 1973
REVISED JULY 1974

REPRINTED AUGUST 2002

OPERATING
INSTRUCTIONS

&
SPARE PARTS

LIST

WINGET LIMITED
PO BOX 41

EDGEFOLD INDUSTRIAL ESTATE
PLODDER LANE

BOLTON
LANCS

BL4 OLS
TEL: ++ 44 (0) 1204 854650
FAX: ++ 44 (0) 1204 854663

service@winget.co.uk
parts@winget.co.uk
www.winget.co.uk



  INTRODUCTION

This Parts & Operators Manual is a re-print of the manual last published in 1974
and contains some amended part numbers.

Health & Safety legislation and working practices applicable to Site Dumpers,
both 2 and 4 wheel Drive, Rigid Chassis and Articulated Chassis have changed
considerably in the years since this manual was last published and immediately
following this Introduction are notes on the Safe Use of Site Dumpers. These
notes supersede and replace all previous ‘Dumper Safety’ notes issued with
Winget FOUR/60 Four Wheel Drive Dumpers.

Reference is made on a number of pages to ‘bolt c/w nut and washer’, this no
longer the case, fixings such as nuts, bolts, screws and washers should be
ordered as individual items. A number of Whitworth and B.S.F fixings are now no
longer available, in these cases the nearest metric equivalent size will be
supplied.

The contents of this manual although correct at the time of publication, may be
subject to alteration by the manufacturers without notice and Winget Limited can
accept no responsibility for any errors or omissions contained within the following
pages. Nor can we accept any liability whatsoever arising from the use of this
manual howsoever caused.

Winget Limited operate a policy of continuous product development. Therefore,
some illustrations or text within this publication may differ from your machine.

        WINGET LIMITED
PO BOX 41

       EDGEFOLD INDUSTRIAL ESTATE
PLODDER LANE

BOLTON
                    LANCS

BL4 OLS
TEL ++ 44 (0) 1204 854650
FAX ++ 44 (0) 1204 854663

E mail service@winget.co.uk
   parts@winget.co.uk
   www.winget.co.uk





















































Winget Limited
CM2483 replaced by CM2714 Selector Shaft from Jan 1976


Winget Limited
UFG55 replaced by CP1257from Jan 1976

Winget Limited
CP1138 Circlip no longer fitted from Jan 1976

Winget Limited
30102A01 GEARBOX





Winget Limited
Low Ratio Gear CM2333 is obsolete use following items to replace:-
CM2757 Gear, High Ratio
CM2752 Sliding Sleeve
CM2755 Shaft Output
CM2756 Low Ratio Gear

Winget Limited
30102A01 GEARBOX





Winget Limited
30102A01 GEARBOX



















Winget Limited
Some machines fitted with 12.00 x 18 tyres 











Winget Limited
20208A01











Winget Limited
30121A03 Ram Assembly



Winget Limited
30162A01 Ram Assembly





Winget Limited
Valve Bracket 4/60-170





AIR CLEANER AND EXHAUST SYSTEM

Item No. Part No. Description Qty.

              10532A05 Air Cleaner Assembly, comprising of items
5,6,7,8,9,10 & 11 1

             1 V2003201 Stack Cap 1
     2 V2003271 Bracket 2
     3 460190 Hose Connecting-Lister 1

460191 Hose Connecting-Petter 1
     4 97S12 Clip Hose 2
     6 V600484 Element Air Filter 8” 1
     7/8 V600487 Nut & Gasket Kit 1
     9 DU766 Baffle 1
     10 DU769 Cup Assembly 1
     11 DU420 Clamp Assembly 1
     12 460232 Manifold Adaptor-Petter only 1
     13 11S02C Screw Set M6 4
     13A 17S03 Washer Spring 4
     13B 7S02 Nut M6 4

                EXHAUST SYSTEM (PETTER)

     14 460147 Flexible Pipe 1
     15 153S12 Clamp Exhaust                                     1
     16 460248 Silencer 1
     17 460149 Clip 1
     18 8S04C Screw Set M10 1
     18A 17S05 Washer Spring M10 1
     18B 7S04 Nut M10 1

EXHAUST SYSTEM (LISTER)

     19 460296 Adaptor 1
     20 153S12 Clamp Exhaust                                     1
     21 460295 Silencer 1
     22 460297 Bracket 1
     23 11S02C Screw Set M6 1
     23A 61S02 Nut Binx M6 2
     24 66S01A Screw Set ¼ UNC X 1” 2

         
         





CALIFORNIACALIFORNIACALIFORNIACALIFORNIA

 Proposition  65 Warning

Diesel engine exhaust and some of its 
constituents are known to the State of 
California to cause cancer, birth defects, 
and other reproductive  harm


